
entropy = 0.434
samples = 280

value = [255, 25]
class = 0

entropy = 0.696
samples = 32
value = [26, 6]

class = 0

entropy = 0.968
samples = 86

value = [52, 34]
class = 0

entropy = 0.0
samples = 11
value = [11, 0]

class = 0

entropy = 0.556
samples = 54
value = [7, 47]

class = 1

entropy = 0.183
samples = 72
value = [2, 70]

class = 1

entropy = 0.966
samples = 102
value = [40, 62]

class = 1

entropy = 0.345
samples = 31
value = [29, 2]

class = 0

pclass_3 <= 0.5
entropy = 0.467
samples = 312

value = [281, 31]
class = 0

pclass_1 <= 0.5
entropy = 0.935

samples = 97
value = [63, 34]

class = 0

sibsp <= 28.856
entropy = 0.371
samples = 126
value = [9, 117]

class = 1

sibsp <= 23.254
entropy = 0.999
samples = 133
value = [69, 64]

class = 0

sibsp <= 26.269
entropy = 0.632
samples = 409

value = [344, 65]
class = 0

parch <= 0.5
entropy = 0.883
samples = 259

value = [78, 181]
class = 1

age <= 0.5
entropy = 0.949
samples = 668

value = [422, 246]
class = 0


